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1p 2p 5p 10p
One Penny Two Pence Five Pence Ten Pence

20p 50p £l
Twenty Pence Fifty Pence One Pound Two Pounds



Watch the Mmag Smbqb{\egowoompleiethetask,]
Task | LO: To find totals of money using addition.

4

Cmgmﬁndﬂwmooin&imgounhouse? Makea,’wlbj/oaﬁolbth&co{n&g,owcamﬁndfhm
add;upzthf/total/ab’d\f/end

Coirv Tally Amount (Y ow must add, the

I&gmhwm’tgotw&mge%ﬂwhmfhmdoat&ﬂgu&ngﬂwd\w\g@}mMm
Web,si'f,r\'s/pw\se/l




/ /
Watch the Money Song before yow start.
LO: To find totals of money using addition

Comgow({:md’drwseoom&w%ounhouse? Mokea/’tallgqpolLﬂwecom&Wm(ﬁndUnm
add up the total ab the end.

Colrv Tally Amount, (Y ow must, add the

Dogowhameomgothencoin&%gounhouseﬂrwbmnoths&dabov&? Dr\awa/piciure
@Wm’tWWmemmwawmmWMMm

Wehster's puUrse
3






TOWWWW%WWW@MWWQ}MWWM
coirv yow used, to- pay. Y'ou carv do- this by doing a subtraction

Correct or | Correct
You buy You pay Your change Incorrect | amount
{vix) required

53]
3 =

Correct or :::::d
incorrect? : g€
required

Task 3 LO: To answer money word, problems using addition and, subtraction.

5



I
|”' CollEL ... 65p Small chips_._... £150

W
} Lemonade............. 60p Large chips ... £210 |:| O U L"/){%
L TR . Lt 80p Ice cream.....___£120 :| —
L Coffee .0 3 £ Pz £3.00 ':]
.l.a Ham sandwich . £2 20 V 5‘:‘! : 'j 2
p C - 1 chilli is regular task

Use, paper and, a pencil to- work ouls your answers: ¥ ¥ 2 chillies for a challenge

i
-

~

. Yow hame £2.00 and, your mom, will let you have o maximumy of 2 things fromy the
oozﬁé.\/\/habcoul,dwhm?
2. MMWWWWW£Z.SO,MWMMWW?
3. Extras sprinkles for ice creams ares 20p, hour muchs would, one ice creams withy
' cost?
L. SPECIAL OFFER It is the end of the day so Miss Webster has reduced some of
the items! She is reducing items by 20pl Whichs ttemy canv yow nowr buy, for 1, Op?

VV

IF yow spend, £5.20 exactly, which 3 tems harve youw bought?

2 Y ouw have £l0 to spend, for tems for yow and, your friend. What: woulds yow buy?
Do yow hare any changer?

3. Miss Webster didnt hame many customers today so- she has reduced all. tems by
30p - what are the new prices?

L. memmwmmmwﬂ%mwh@m She decides to
add apples, oranges and, bananas. For Miss Webster s to- make: ar good profits she
L&going;toodd:ﬁptoeac}vm FdLod&thetobletowonk;oubwhobeachwpﬂw

would be.
Tterm Original price New price
Apples 2p
Oranges 8
Bananas 13p
Answenrs



Correct or | Correct
You buy You pay Your change Incorrect | amount
(/) required
X 13p
X Tp
23p +23p =46p
£1-46p =54p
v 43p
Correct
Correct or
You buy You pay Your change Bt 2 cha nge
required
v £2 and 1p
X 25p
v 90p
£2.99+£2.99+
£2.99=£8.97
Change: £10 - X £1 and 50p
£8.97 = £1.03




Page 3:

1. Just Small chips / cola and lemonade / tea and coffee / tea and lemonade / ice cream and lemonade or ice
cream and tea / ice cream and cola
2. Just large chips / just a ham sandwich / small chips and cola / small chips and lemonade / small chips and

tea, small chips and coffee / ice cream and cola / ice cream and lemonade / ice cream and tea / ice cream
and coffee

3. £1.40

4, Lemonade

v

O O W u Oy S

& Jahient )
|’: GODEL e 65p Small chips........ £1.50 ]
) Lemonade............. 60p Large chips...... £2.10

[ EErE L AT 80p Ice cream._.......... £1.20 j
LJ Coff .05 . Al T T £3.00 ;
~ Ham sandwich. £2 20 f{l 4 ?
[ Rt el S e Y

1. Pizza, coffee and ice cream
2. Aslong as all items together add to £10 or below then this is correct. Eg — pizza / ice cream / large chips / small
chips / cola / lemonade / ice cream

3. Cola 35p, lemonade 30p, tea 50p, coffee 70p, Ham sanwich £1.90, small chips £1.20, large chips £1.80, ice
cream 90p, pizza £2.70

4,
Ttem Original, price Newr
Apples 12p 29
Oranges 8p 25p
Bananas 13p 30p




